42

= AR

T67DBB, T67DCB, T6DCC #%

".' iy T67DDBS, T6DDCS &7l
:_' .0__ " T67EDB(S), TGEDC(S) &%
; I . (T6EDC)
_T%
s \\7
P2 /
L
P3
—
=|
—=
P
N
B BB B oottt ettt ettt ettt ettt ettt et ettt et et et et et e et et {4 : TEEDC-072-042-020-1R00-A1F0
1. J=ENE-072-025-020-1R00-A1FO0.............. EY Ik "ARET R
Wi A L
T67DBB  |T67DCB | T6DCC
SAE RN | T67DDBS | T6DDCS T6EDC-O72-025-020-1R@-A1F0 .................. iEI[I
T67EDBS | T6EDCS A s tn
S0 2t T67EDB TOEDC T6EDC-O72-025-020-1ROO-n1FO .............. Witk
o T6EDC-072-025-020-1R00-AMFO .......... G 37
2. T6EDC{JEFE - 1R00-A1FO........... e AR R T .
B C D E @;}@ﬁg : ﬁ%#fjiﬁhﬂl[&*ﬁ,'ﬁjﬁlqr& 5
BO2........ 5.8 003......10.8 |014......47.6 | 042 ....132.3
B03......9.8 |005.....17.2 |017....58.2 | 045 .....142.4 8. T6EDC-072-025-020-1RO0-AL[QY ......... i 7=
B04.......12.8 | 006......21.3 |020.......66.0 | 050 .....158.5 P3= o P3=T
BOS.......15.9 | 008.......26.4 | 024 .....79.5 | 052 .....164.8 “#l [ UNC | ~#] | UNC
BO06......19.8 | 010.......34.1 [028.......89.7 | 057 ....179.8 [CEEER T i
BO7......22.5 | 012....... 37.1 |031....... 98.3 [ 062.....196.7 T67DCB Rz | W 01
BOS......24.9 |014......46.0 | 035.....111.0 | 066 .....213.3 T6DCC FEztdit | M1 | 01 | MO | 00
B10......31.8 | 017 .......58.3 | 038.....120.3 |072.....227.1 T6DDCS | HF=% | M1 01 MO 00
B12.....41.0 |020......63.8 | 042.....136.0 | 085 .....269.0 T67DDBS | @44 | M1 | 01
B15.......50.0 | 022 ....... 70.3 | 045.....145.7 FERALEE | OFL
T67EDB L
025......79.3 | 050.....158.0 RERT P1
028.......88.8 BRALEE | FL FO
031.....100.0 TOEDC YaAdsE | Pl PO
ER R s F1 FO
3. T6EDC-072-025-020fIR00-A1FO........... LT T6EDCS | "y oy P1 PO
4, T6EDC-072-025-020-1EOO-A1FO .................. i )
P3 P2 PL P3 P2 P1 P3 P2 S Pl P3 P2 P1
s w | ] [ral 2] (heC] [ ] el o] (-
S




42

T67DBB
38.1
L1 138.0
L2 404.0
~ 119.3
= 127.00
N ‘ 126.95
= 181.0
o
E 175
Y 84.4
T67DCB
38.1
138.0
404.0
119.3
127.00
O 126.95
181.0
N L1 B F 3 2124
I 175
84.4
L2 y T6DCC
o o) K IXK 2\ T = 38.1
o = 138.0
D <1 404.0
Q o L 119.3
— 127.00
O O L i 126.95
181.0
M1
G 212.4
17.5
84.4
* H A (N.m) H=] (mm)
g i T67DBB -
T67DCB T6DCC L1 L2 [ K1x K2 H1 M1
1| #: No SAE (@31) 721 721 83.6 49.3 | 31.750-31.700 | 6.35x6.30 | 34.6
2 | T % SAE CC (138) 1108 1108 89.7 50.8 | 38.100 - 38.075 | 9.52x9.47 | 42.4
3 |- SAEC ° ° 55.2 38.0 Class 1-J498b, 12/24 d.p. - 14
4 | -3 SAE CC ° ° 61.0 | 315 Class 1-J498b, 12/24 d.p. - 17
6 | [=: No SAE ° 760 | 480 Class 1-J498b, 12/24 d.p. - 14
R (mm)
il TL [ IRy
I Al B1 @Cl D1 — I
2l UNC
P1 1y 30.2 58.7 31.8 82.6 M12 x 22.3 716" 14UNC x 22.3
T67DBB |P2 1" 26.2 52.4 25.0 101.6 M10 x 19.0 3-16UNC x 19.0
T67DCB | p3 Y 22.2 477 19.0 747 M10 x 19.0 3-16UNC x 19.0
s 4 77.8 130.2 101.6 127.0 M16 x 30.0 5/g"-11UNC x 30.0
P1 1y 30.2 58.7 318 82.6 M12 x 22.3 716" - 14UNC x 22.3
P2 1" 26.2 52.4 25.0 101.6 M10 x 19.0 3/,-16UNC x 19.0
T6DCC M1-01 : %" 22.2 477 19.0 ,
P3 747 M10 x 19.0 1g"-16UNC x 19.0
M0-00: 1" 26.2 52.4 25.4
s 4 77.8 130.2 101.6 127.0 M16 x 30.0 5/g-11UNC x 30.0




42

T67DDBS
T6DDCS
38.1
148.5
L1 A Al 455.0
L2 1250
127.00
2 © 126.95
181.0
N ©
7 % — 1145
— o 213.0
p)
| | Q 17.5
120.0
C1
11
@)
L1 E F Q
N
N L2
1 A
- <
[
pd
N
0 pra
G
1t B H (N.m) AN~ (mm)

T67DDBS / T6DDCS L1 L2 B K1x K2 H1 M1
1|7 SAE-C 686 84.0 49.3 31.750 - 31.700 7.94x7.89 |3527| M10x20
2 |1 SAE-CC 1148 91.0 50.8 38.100 - 38.050 9.52x9.47 |42.36| M10x20
5 | 7 i#%: non SAE 883 84.0 60.0 34.900 - 34.850 7.94x7.89 |38.42| M10x20
3 | [ SAE-C 971 56.0 38.0 Class 1-J498b, 12/24 d.p. - 14
4 | [-3=: SAE CC ° 46.0 315 Class 1-J498b, 12/24 d.p. - 17 P}

NS (mm)
It T4 [ Iflzd
I Al B1 @c1 D1 2
il UNC

P1 1y 30.2 58.7 31.8 82.6 M12 x 22.3 Ii6" - 1AUNC x 22.3
e P2 1y 30.2 58.7 31.8 101.6 M12 x 24.0 "I16" - 1AUNC X 24.0

P3| M1-01:3% 22.2 47.7 19.0 74.7 M10 x 19.0 %" - 16UNC x 19.0

S 4 77.8 130.2 101.6 115.0 M16 x 30.0 ®" - 11UNC x 30.0

P1 1Y 30.2 58.7 31.8 82.6 M12 x 22.3 16" - 14UNC x 22.3

P2 1y 30.2 58.7 31.8 101.6 M12 x 24.0 "I16" - LAUNC X 24.0
T6DDCS M1-01 : %" 22.2 47.7 19.0 3.

P3| V000 1" 6.2 e 54 74.7 M10 x 19.0 /" - 16UNC x 19.0

S 4" 77.8 130.2 101.6 115.0 M16 x 30.0 ®/g" - 11UNC x 30.0




42

T67EDB
E 42.9
F| 1333
G| 468.0
L1 Al Al Al Al
B a Ry Al I 148.4
™ J1| 165.05
J2| 165.10
L2 sl ) -~ @N| 315.0
N O| 2730
N i @P| 220
i b o o m Q| 1200
el
Q ©f T6EDC
} E 42.9
\ F| 1333
C1 C1 C1 Cl F5T 2680
T1 T1 T T1 | 1484
J1
Jp| 250n8
@N| 315.0
Oo| 2730
Pl 220
L1 E F Q g
‘ ‘ Q| 1200
L2
- T6EDCS
A
K w X KZ\ - > \I' E 429
= - o = F| 1333
N =11 \\ = G| 468.0
< / L I 148.4
= N - J1| 165.05
T l J2| 165.10
pd @N| 315.0
= ; o| 2730
-
. oP| 220
\ & Q| 1200
" 151 (N.m) H=] (mm)
HHIRT T67EDB e
ToEDG | TEEDCS L1 L2 [igEd K1x K2 H1 M1
1 | 1503019 (245) () ) 92.0 63.0 45h7 14h8 485 | M12x24.0
2 |74 SAE-D ) 1000 | 63.5 | 44.450-44.400 |11.11x11.06 | 49.3 |%"UNCx24.0
3|3 SAED&E [ ) 75.0 48.8 Class 1-J498b, 8/16 d.p. - 13 F#
N=] (mm)
il T1 [ IRy
T Al B1 @C1 D1 P
2l UNC
P1 1% 35.7 69.8 37.1 139.7 T6EDC : M12 x 30.0 T6EDCS : %"-13UNC x 30.0
P2 1y 30.2 58.7 31.8 101.6 T6EDC : M12 x 24.0 T6EDCS : "/1¢"-14UNC x 24.0
TTGGEEDDCCS F1-P1: %" 229 47.7 19.0 .
P3 %62 74.7 T6EDC : M10 x 19.0 T6EDCS : */3"-16UNC x 19.0
FO-PO: 1 : 52.4 25.4
S 4 77.8 130.2 101.6 115.0 T6EDC : M16 x 30.0 T6EDCS : */g"-11UNC x 30.0




